January 25, 2013

/b - Solve systems of equations using
substitution.
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y=6+x
y=-5+1/2x
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y=3x+1
y=-2x-3
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Graphing isn't always practical: \

-Takes time

-Easy to make mistakes

-Sometimes the solution isn't clear

-The solution isn't always on the graphing plane

So... We have other ways to solve systems of
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By Substitution:

1. One of the equations must be in x= or y= form (or whatever
variables are given).

2. Then substitute (replace) the value into the other equation.

3. Solve for both variables.
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a+ 5b=-3>0=-25
3a-2b=8
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8X+2y= 13
4X+y= 114$‘6=“_q*
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HW: pg. 379 #16-22 (even) 26, 28
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